Factors Affecting Business Organisations

Task 1
Complete the table below by deciding whether each of the factors listed are internal or external.  The first one has been done for you…
	
	Internal
	External

	A new law is introduced
	
	X

	The economy has gone into a recession 
	
	

	The business has made a much smaller profit than forecast
	
	

	A competitor has launched a new product
	
	

	A new Chief Executive is appointed
	
	


Task 2
Internal Factors
There are many factors which can affect the running of a business organisation and the decisions it makes.
Some of these factors are internal, that is they come from within the organisation.
For each of the internal factors listed below explain 2 ways in which they could affect the running of the organisation:
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Task 3
Internal Factors
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There are certain things that can happen inside a business which can force that business into making changes. 
With a partner discuss the following scenarios and try to explain how they

could force a business to change…

A change in Human Resources – e.g. a football club appoints a new manager.
_________________________________________________________________

_________________________________________________________________

_________________________________________________________________
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A change in Finances – e.g. the business is doing much better than forecast
and has doubled its half-yearly profit.

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________
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A change in machinery/equipment used or a change in production methods

 – e.g. Tunnocks decides to move to an automated production process.
_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

Task 4
External Factors
As well as internal factors, an organisation also faces many external factors (things that come from outside the business) that can affect it.
PESTEC Analysis is carried out by organisations to help them identify these external factors.
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What does the P stand for in PESTEC? 
	
	Political

	
	Performance

	
	Primary

	
	Public 
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What does the first E stand for in PESTEC? 
	
	Energy

	
	Enterprise

	
	Economic

	
	Ethical


What does the S stand for in PESTEC? 
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Supply

	
	Shareholders

	
	Stakeholders

	
	Social


[image: image25.jpg]


What does the T stand for in PESTEC? 
	
	Technological

	
	Tertiary

	
	Targets

	
	Tariff
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What does the other E stand for in PESTEC? 
	
	Entrepreneur

	
	Environmental

	
	Elasticity

	
	Ethical
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What does the C stand for in PESTEC? 
	
	Charity

	
	Competitive

	
	Climate

	
	Challenge


A recession is an example of 
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Political Factor

	
	Economic Factor

	
	Social Factor

	
	Technological Factor

	
	Environmental Factor

	
	Competitive Factor


The introduction of a minimum price for alcohol is an example of 

	
	Political Factor

	
	Economic Factor

	
	Social Factor

	
	Technological Factor

	
	Environmental Factor

	
	Competitive Factor


People living longer is an example of 

	
	Political Factor

	
	Economic Factor

	
	Social Factor

	
	Technological Factor

	
	Environmental Factor

	
	Competitive Factor


The reduction in a rival firm’s mobile phone tariff 
	
	Political Factor

	
	Economic Factor

	
	Social Factor

	
	Technological Factor

	
	Environmental Factor

	
	Competitive Factor


The introduction of mobile phone app’s is an example of 

	
	Political Factor 

	
	Economic Factor

	
	Social Factor

	
	Technological Factor

	
	Environmental Factor

	
	Competitive Factor


Recycling is an example of 

	
	Political Factor

	
	Economic Factor

	
	Social Factor

	
	Technological Factor

	
	Environmental Factor

	
	Competitive Factor


	TRUE
	FALSE


External factors can be controlled by an organisation

Task 5
PESTEC Analysis
There are certain things that can happen outside a business which can force that business into making changes. 
Complete the table below and on the following page by naming, describing and giving an example of each of these external pressures…
	External Factor
	Description
	Example

	P
	
	

	E
	
	


	S
	
	

	T
	
	

	E
	
	

	C
	
	


Task 6 
Economic Factors
What is meant by a recession?

_________________________________________________________________

What effects can a recession have on a business?

_________________________________________________________________

_________________________________________________________________

How might a business combat the effects of a recession?

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

A recession may not always bring bad news to a business, some businesses may actually see an increase in business - shoe retailers such as Office may see a fall in sales, whereas shoe repairer like Timpson’s may say an increase in business.  
Give another example of a business that may benefit from a recession.

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

Task 7
Environmental Factors
Nissan have launched the Leaf, their first

100% electric car.

Why have Nissan and other car manufacturers developed a range of electric cars?

_________________________________________________________________

_________________________________________________________________
What costs might there have been to Nissan in developing the Leaf?

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

What benefits might Nissan gain from launching the Leaf?

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

Task 8
Political Factors



SMOKING BAN – the Scottish Government introduced

 
legislation which makes it illegal for people to smoke

 
indoors in public buildings.
Explain how the introduction of this legislation may have affected many different businesses.

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

________________________________________________________________

_________________________________________________________________

_________________________________________________________________

Task 9
Competitive Factors
Read the following case study and then answer the questions that follow.



A new battle for airline passengers started recently with 

one major airline unveiling a £150 million ‘family-friendly’ 

revamp of their economy class.


Improvements include computer games and ‘treasure chests’

 of toys for children, seat-back TV sets, a crèche at 

Heathrow, a help-yourself snack bar on flights and free ice 

cream.


The airline will also provide special children’s meals – for example fish fingers 
and chips – and will bring in a ‘feed children first’ policy.

Why do you think that this airline has decided to introduce this new policy?

_________________________________________________________________

_________________________________________________________________

How will this new policy affect other airlines?

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

Task 10
Social Factors




Fair trade ensures that farmers and producers receive a 



fair price for their products.




As society becomes more aware of where products come 



from and how they are made many retailers are now 




stocking fair trade products e.g. Starbucks now sell fair 



trade coffee and Tesco sell fair trade school shirts – this 



is an example of how changes in society can pressure a 




business into making a change.

Give another example of how a change in society – either in the demographic (how the population is made up) or the way in which people think/behave – has forced businesses into implementing change.

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________ 

Task 11
Technological Factors
It is important for businesses to stay up-to-date with technological advances in order to stay competitive and offer customers the best service. 

Describe how a business like Tesco has tried to 

keep up with advances in technology.

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________


Task 12

ICT Revision Task 
Your teacher has asked you to use ICT to create a revision resource 
that could be given to your class on the topic of PESTEC analysis.

The form your resource takes is up to you – it could be a poster, a powerpoint or a revision handout – but it must name, describe and given an example of each of the PESTEC factors.


Task 13
Social Costs & Benefits 
What is meant by a “social cost”?  Give an example to illustrate your 
answer.

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

What is meant by a “social benefit”?  Give an example to illustrate your answer.

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________
Task 14
Group Task

As part of the 2014 Glasgow Commonwealth Games an Athletes Village is going to be created in the East-End of Glasgow.

Designed for athletes in consultation with athletes, the Commonwealth Games Athletes' Village promises to be a real “home from home”.

Set in Glasgow’s East End, the purpose-built village is at the heart of one of Europe's largest regeneration areas. It will be home to the expected 6,500 athletes and CGA team officials for the duration of the Games. The Village will offer an exclusive retail area, recreation area, dining hall, medical facility and other amenities for the use of the athletes and officials.

The Athletes' Village site will be developed by Glasgow City Council with City Legacy, a private-sector consortium which will build the first 700 units for the Games. The Village will subsequently be further developed to become an attractive residential area with a total of 1,400 homes, 300 of which will be available for social rental, as well as a care home for 120 residents. The balance of the units will be for sale.

Through this development, Glasgow City Council plans to bring further social and economic value and regeneration to the area by creating opportunities for employment and training, local business and social enterprise.

Preparatory land work started on the 35-hectare site in August 2009. The Athletes' Village will be completed in January 2014. 
http://www.glasgow2014.com/games/venues/athletes-village
Working in groups of 4 name and describe at least 3 social costs and 3 social benefits that the creation of the Athletes Village will have on the East-End of Glasgow.
	Social Costs

	1
	

	2
	

	3
	

	Social Benefits

	1
	

	2
	

	3
	


Task 15
Economic Costs & Benefits

What is meant by an “economic cost”?  Give an example to illustrate your answer.

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

What is meant by an “economic benefit”?  Give an example to illustrate your answer.

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

What is meant by “opportunity cost”?  Give an example to illustrate your answer.

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________


Task 16

Look at the following cartoon…


Create your own cartoon strip to explain Opportunity Cost.

Task 17






It was announced in your local newspaper that one of 




Scotland’s top 10 banks Thistle Bank is to open a new 




Customer Service Centre in the local area.





The state-of-the-art building will be built on an area of 




waste ground on the outskirts of the town which will 




require a new access road to be built and existing 




footpaths and street lighting to be upgraded.

200 new jobs, both full and part time, will be created when the facility opens up in 6 months time.

How would the creation of 200 new jobs benefit the local economy? (economic benefits)

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

What economic costs may the local community face as a result of this new business moving into the area?
_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________
If the organisation has not made as much of a profit as expected they may not be able to put all their future plans into place





Finance





The technology & equipment used in the organisation may be out-dated and may not be able to carry out certain tasks





Technology





There may not be enough employees within the organisation to meet future plans





Employees








